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F C TE—E 1[ 1/1=1.000000 0.00% | 261.6255 668.5127175| 0.862207| 576.3963282 F c TE2—E 1 380 371 —0.796% 0 400| 0.862207
15.55703942 41 71 1.731707317
F# BE_E 1.059463]16/15= 1.066667 —0.68% | 277.1826 630.9920379| 0.824248| 520.0940148 F# BoE 1.059463 402.59594 0.824248
16.48214733
2 D E_E 1.122462| 9/8 = 1.125000 -0.23% | 293.6647 595.5771487| 0.786289| 468.2959442 L D EZE 1.122462 426.53556 418 —2.042% 329| 0.786289
17.4621966 59 52 0.881355932
L# BEE 1.189207] 6/5 = 1.200000 -0.91% [ 311.1269 962.1500021) 0.770872| 433.3456552 L# B=E 1.189207 451.89866 0.770872
18.50058836
= E E=E 1.259921]| 5/4 = 1.250000 +0.79% [ 329.6275 530.5989165| 0.755455| 400.8433633 = E E=E 1.259921 478.76998 477 -0.371% 277 0.755455
19.60072375 39 26 0.666666667
27 F TEME 1.33484] 4/3 = 1.333333 +0.11% [ 349.2282 500.8186131) 0.740515] 370.8634848 27 F FEEME | 133484 507.2392 516 1.698% 251| 0.740515
20.76626553 51 33 0.647058824
IT7# WA 1.414214) 7/5 = 1.400000 +1.02% | 369.9945 472.7097296| 0.723619| 342.0618415 I7# BAE 1.414214 537.40132 0.723619
22.00087645
Y G TERE 1.498307| 3/2 = 1.500000 —0.11% | 391.9954 446.1787321] 0.706724| 315.3251478 v G SE2AE [ 1498307 569.35666 567 —0.416% 218| 0.706724
23.30926577 73 37 0.506849315
J# BAE 1.587401) 8/5 = 1.600000 —0.79% | 415.3046 421.1366362| 0.684523| 288.2775386 # BAE 1.587401 603.21238 0.684523
24.69535787
2 A EARE 1.681793] 5/3 = 1.666667 +0.90% 440 397.5| 0.662321| 263.2727273 2 A EARE 1.681793 639.08134 640 0.144% 181] 0.662321
26.1636004 94 36 0.382978723
o# BEE 1.781797]16/9 = 1.777778 +0.23% | 466.1636 375.190169| 0.63542| 238.4034273 ki mtE 1.781797 677.08286 0.63542
27.7197491
v B EtE 1.887749(15/8 = 1.875000 +0.68% | 493.8833 354.1322059| 0.608519] 215.4962303 v B EtE 1.887749 717.34462 734 2.269% 145] 0.608519
29.36772837 4 15 0.365853659
C2 TE/NE 2] 2/1 = 2.000000 0.00% 923.2511 334.2563588| 0.576043]| 192.5461872 F C2 TE/NE 2 760 775 1.935% 130] 0.576043




